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12C 1�7=A7�(����� 12
6.02 x 1023 g

3� ����(����1 u  = 12
6.02 x 102312

1 x

= 1.66 x 10-24     g

������1 u   = 1.66 x 10-27 kg  
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;��( 1  MeV =  1.6 x 10-13 J

3� ����( E   = 1.4923 x 10-10

1.6 x 10-13
MeV

=  931.44 MeV
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"'�!�'���5(���  ��D���7�����2�%&N
���"��77�#��77�;�����M3N�73�



������������	
��
��

!�:�7�� $� �����������M���3��!�7$7�
 �
W�� !�L�M7<W<��&��� 67 MX<3$!;�#�=
�$=�753N��<�$A7���5���A$7�7�'� 
7�YD�"

2
H1

neutron

proton

deuteron
2
H1

�����ray
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;����$�� (�����ray M���3��!�7$7�
�5�'�;=AN7 %&N������ray �����  ��7�'� 
�N7�����Y3((
>

((OFP(;� ����$Z#��
3��!�7$7�M3N�73�
#�3 �'�(���  ����3!&�����$=&�'� 
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������A$7��$����5�<�$A7��
=  1.008665  + 1.007276 
=  2.015941 u

���3��!�7$7����G 2.013553  u
���&��M���G 2.015941 - 2.013553

=  0.002388   u
"�3!�L����  ���G 0.002388 x 931

=  2.22  MeV
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;=!&\��'���!�:�7���A$7�$����5<�$A7�
!�L�3��!�7$7�;=�����5� �'��&��M�
!$����'����	(�����(mass defect) !�:�7
"�3!�L����  ��;=M3N��2.22 Mev�W�� !�'�
��5���  ��67 $� ��#�������%���$#��
3��!�7$7���#�3 �'�
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B.E. #������  ����3!&�����
����m #�������$'7 ��&�'��!�L��u
;=M3N

B.E.  =  ����m x 931 &�'����MeV
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��AY���������  ����3!&�����A'7��
���"��77��(B.E./A )����;=��
!�Z��$���

��AY�����!�6����'� �50 - 90
���  ����3!&�����A'7���"��77���
"'7�6N� " A��
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"'��B.E./A��V �Y3�$=��]�8.7 MeV

&$:7���!�6����$=��]�56
"'���B.E./A�;=�3� !�:�7!�6���
�V ��'���90


